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You can say; when did Rabi Yitzchok say: not at the time of the loan

OVERVIEW

The X773 states that "7 X"7 cannot be arguing whether we accept or reject the
ruling of prx> "7 (that 1own AP 1"v2), for the ruling of " was said only by a 11own
RV NYwa KOw (however ¥'" X" argue by a X nywa Nown). Our Mv0IN
discusses the extent of the s'm%n liability for the Nown

- POIND YN 2HNNY 1Y %37 INNIYD NYWA NYYT *09099P3 U
“''w explained that the 7% acquires a \RY?77 nYwa KXW 1OWH to the extent that

he is liable for it even for °21'8 (an unavoidable accident).
- 0YMa by MMTPa 9¥aY 299N47 (3,7 91 DINDAY NP 7992 99NT NN IO

And according to this 3''w=p, this which the X n3 states in the first P22 of noon

2 oD that one is to destroy deposits of y7217 which he received from gentiles -
- POINT HNINN 1YY YaPUa XPIT 139N HPINN INIYS 1YY Yanws

When the Jew accepted liability; this ruling is only when the %&7v° accepted

upon himself even the liability of 50338 (but not if he only accepted n1nx for 7271
77°2X1). M20IN supports his view -

- 2AN19N NYWA NN SY Paunn by Nivn XNT
For the case of one who lends money to a *121 for a 12w of y»mr and he takes the

1own at the time of the loan -
- Y599 RYT 19598 INIWTI “ATan) N2 195 PNIUNN NPINNT 23 BY 9N

Even though that the M%7 is liable for this 335w for 7792K8Y 772%33 on account of

bR12w, even if it was not explicitly stated that the 79 accepts this N1 -
=927 V99220 )I2WNN T NN 9595 Y91

As I explained previously that the amount of the loan which corresponds to the

value of the 1own is as if it was expressly stated that the 17 is liable for X" -
- S5nYY 93979 INNITA NYWA RV 59135 195 23DT DYON NY BN 9¥aY 2950 PPN 991 199N

" This MmooIn references the X3 on the previous 'x Tny.

2 anpw 7" R, 9.

3 The X773 rules in 2,X2 0°1oD that the 7797 is 72> 21 on account of the ruling of pn¥> 1. See X1 77"7 2,80 'OIN.

*1f the 15wn is lost or stolen, that amount is deducted from the loan (or if it is worth more than the loan, the 791
must compensate the 1?).

5 X9 "7 8,20 '010 [TIE footnote # 25].

% mooIn reasons as follows. A M9 is liable for X" for every 12wn (even 7X127 Nywa), based on the ruling of HXmw
(whom we follow 113772 according to '01n [see end of X2 71"7 X,29 'o1n]). It should therefore follow that if one is 7791 a
731 on a yan 1wn, he should be qwa 27, since he has X" nranXk. However, the X7n3 in 2,87 2°nod teaches that the
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Nonetheless, the 7Xw° would not have been 2y2a% 21 (on account of his 211
nrank for X™3), if not for the reason that the m>» would have acquired it
completely if it was taken 1nR277 nywa KW according to ',

mooIn disagrees with >"wA concerning the liability of a m%» for the Nown:
= 99V 912IY MNT NN POIND 2NNNY 2P KXY INNIDN NYWA XOWT AN 1199199

However, it appears to Mo01n that a R nywa XHw 11OW» is not acquired by
the 7177 to the extent that he is liable even for Po1R, but rather that the Mm% is

only a w''w. mooin proves his point that MR NYW3A XKW 110WR is a W'Y -
- DAY 12919 99Y UMY 2INDT PNINN NNt RNT

For the X723 compares our ;1w», which stated that 1ownn 5y Mo is a w''w, to

the ruling of 5''9; proving that according to »"3 the 7791 is only a w"w and not 1°01182 2711 -
- 5595 ynNANY M) MAYN Yya N1 WS \F))

And so too explicitly explained the 2'';73, which I cited previously
= 2719 9¥Ya HIN) IND 297 ©Y9YVa ¥9°9 1

And it is similarly explained in the 239w of 1383 5877 29 in 2''» pw.

mooIn ponders:
= 29NN PPUIN 1ION 729 P3P 22YN INT 99V IV NN DYV NIINND WD 7998

And it is necessary to explain; from whatever reason should a ow»n v Mo
XY Nvwa X9w be considered a w''w: for if it is considered that the m>» has a

93 93P in the 11Ow», he should be liable even for 101N -
- 99 IV 1PAN 1915 RY 1913 1939 2PWN KY IN)

reason he is 7wa% 21 is only on account of pn¥> ' (that 11own anp n"va). [Even though the rule of >3 is only X7w
NRI77 NYwa, nevertheless we say that since WRY?7 nywa Row he is 7wy PIp m1p, that it sufficient that even nywa
X121 he is 72w on "2 *"2.] It follows therefore that N1 R for X" alone is not sufficient to render one being 12w
on >"21>"2. We must therefore conclude that if one takes N1InX on a N7P9 (not a Nwn) for R"A he is not qwa% 2.
The w235 2vn for a NP9 is only if the W accepts Nk for 1018, This observation is based on the fact that >"wA
assumes that according to °"7 a 1"va is NP a 112wn to be liable even for 1onR. [It would seem that if we assume that
15w 7P 1"v2a is only as a w"w (as MdOIN will state later), then every w"w should be 721¥ on °"21°"2. See later in this
mooIn (footnote # 22) that it is not (necessarily) so.]

" The ® 12 (on the bottom of 2,85) when it attempted to reconcile X" (who maintains that 1owni 5v Mo is a n'"w)
with our 73wn (which maintains that he is a w"w) answered that X"9 is discussing a 78?7 nywa 1own, while our 7awn
is by a 7xY?17 nywa X5w 11own and therefore he is a w"w ([presumably] on account of >'3). If, as >'w1 maintains that
Nown 1P 11'va means even °01R2 271077, the 73wn should have said that 11owna 9v 917 is a PXW (not a w"w). See
also the X3 on 7"7¥ X,29.

¥ 927 7" 2,80 [TIE (by) footnote # 26].

? The reason why it may be considered as if he has a 713 13p in the 10wn is that prix> "3 derives from the p109 that a
n"va is Nown 1P (see footnote # 21). See ‘Thinking it over’ # 1.

' It may not be considered as a 93 13p, since the M2 can pay and take back the 112wn, even against the will of the
7191, and the M1 may not use the 19wn. This means the 777 does not own the NWH.
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And if it is not considered as a =3 71p, the M%n should not"' even be a w''w!"?

mooIn responds:
- Baunn nx1a w1pY 9190w ANID NOANAT 9099 U

And one can say; that with this benefit that he is able to be w7p» a woman

with this 710wn; that makes him into a w"w. Moo shows that he can be w7pn an 7wX with a
NWn -
- Bnunon Yoo9nRT 1/9uUna nUTDT v a,n9n PYITRT NP 7993 1999N1

As the X1 states in the first P99 of wYTP noon; that if he was wTp» her with a

1own, which he received from others, she is n@w7y?n. This is one benefit; there are

other benefits from this 1own -
= 99V 999V IPYY NN MYPIPI DYy 12 MNP

And he can buy slaves and land with this 110wn; therefore he is a @''@ on the

nown -
= DVYNPN PNovNI VTP 9MKRT NI AT 99

And according to this explanation it will be necessary to say that this which the

&3 ruled that n@TIPn [D0I0KT] PowR TRTD -
- ymxon nYwa YW 199UNY PIUNI RPIT 1390

Is specifically only by a 1:ow» which he was 1nRY?77 npwa K5 uown —

mooin is still not satisfied:
- 171’3‘\19)32 YVIPY 9192 195N 75 XD 9 DAV 99V 99V AVUN? NNDI 9NN ON)

And if you will say; but why should he be considered a w''w on account of this

" A w"w receives payment for his watching; however the 712 is not receiving any payment for ‘guarding’ this 712w,
why is he a w"w?

12 See Xp711"7 2,5 MoOIN that we cannot say that the m%» benefits from the 119wn, because he is assured of being paid,
for that is no real benefit, for he would benefit equally if he never lent him and did not take a 1own.

3 He does not need to spend his own money for 7¥17p, but rather he can give her the 1own instead. See (however)
footnote # 17.

14 pmnxT 15wn refers to a 11own which this potential wTpn received from a M, to whom the w7pn lent money. This is
to distinguish it from a 1>w»n which he gave his intended 7795 to hold until he will give her the 1w17p 703. This latter
10wn is invalid as the X723 states there, 182 1R 710WnA IRD PR 71A.

' The woman keeps the 119w» until the % pays her the money he owed the m» (the same by nwpR) 272y Maph).

'® nipoIn is arguing that since even by a X277 NYW3a X9 Nown he is only a w"w, therefore only then is she nwpn,
but not by a \nR1?1 nywa Nown. It is apparent that ('010 maintains) by a MX1?7 NYw3a 12wn he has no right to use it for
o11p. [If he can also use a X271 nywa 0wn for 2°1°1p, he should be a "W even MR NYWw2; however our XN
states that the rule of *"3 (that he is a w"w) is only X217 nywa X>w.] However if by a X177 nywa Xow 1own he
would be 717 it a PONRA 2»0NA2 M IR (as "W maintains), a X2 NYw3A 1Own (which may make him a w"w)
would also be sufficient to be w7pn an 7w with it.

17 (See footnote # 13.) How can we consider the 719 benefiting from the 15wn because he can use it to be wpn; if
he would not have lent the money he could have been w7p» with his own money; how can we consider this a benefit
so that the 7% should be regarded as a w"w?! See footnote # 12.
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(that he can use the 11ow» for various 2°1°31p), but could he not have been w7pn
with his own money?!

N1B0IN answers:
- 99 929 25UN 1753 P1Hmun PR PIYN TUNY 1PWIYT 11597 Y Y

And one can say; that since now when he is taking the 1own», his money is not

in his possession, therefore he is considered a @w''w -
- 137 N PYYTP 12 MUY NPy saY

Since he can use the 12w for w7 or 7P —

mooIn offers another benefit from the Pown:
= 19N NMYYY K199 19959NT T

And furthermore, he can use the 12w for 3°5%°n PIp -
- Y195bn nwuys ¥a0m PRT MYNI MUY 9199 150 XYY I

Which he could not have done with money, since coins cannot be used for
PoYon.

nvoIn asks:
= 9NT INM 229N 1929 19 (0w 3,85 91 Do) DYV D DY9aT DYDY

And there is a difficulty; for in myw %> p=5 the 3121 argue on »''n who

maintains -
= 1954 921Y 18NN HY IMAY MYNY HNIY?

A Jew who lent money to a >n12 which was guaranteed by the y#n of the °n12, the

rule according to n"9 is that the X is >"21 "2 92 for this ynn; however the 1127
disagree and maintain that he is not 721 -
= PN 229791 Y 1a9T PN 93972 219997 DNN W9

And the X712 there explains that the 7127 and »"7 argue in >''9; the 12139 disagree

with %''9 (and maintain the 11ow» 719 1R 11"v2) therefore since the ynn does not belong to the
9%, he is not 12w, The X113 continues -
= 92 132N Y9NT 12297 NNPYVI PNYY 299 1Y N NITY 1999 ") N

Or one can also say; everyone agrees with °''9 (that a nown 719 1"v1), and the

reason of the 32129 who maintain that he is not 92 on >"21>"3, is -
- NP NY 11191 YNIYT Y9207 DIUN

Because they maintain that a Y@~ does not acquire ownership of a 15wn,

'8 We are discussing a X127 N¥Ww2 X9w 19w (see [text by] footnote # 16), so at this point he has no money (at least
the money that he lent), therefore he is benefitting by having this 1nown which can be used nTwR wWp%, etc. See
‘Thinking it over’ # 2.

199 m oowh.
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which he received from a 9923. This concludes the X3, N19OIN continues -
- HNIAWA 19 N1YD NY T2IY PN INAN 19295 NOWN)

So now why is the X7 not °"21 °"221 =2 according to the j127; since we

established the 712977 like YXw (by w™»; where he explicitly stipulated that if the 12wn is

not returned the loan is forfeited) -
- 9979 W9 NYTA 1PON 99Y Y M)

So the 9% should be a @w''w even if WD K (there was no explicit stipulation),
as I explained -

mooIn proves that being a w"w for someone’s y11, causes him to be °"21°"2 721v:
= I8N Y9919 991 IPIAN) 99Y MY NIHN M1 XY PNYY 9397 DIVN NPT

For on account of »''1 he is only a w''w, and nevertheless it is considered his
Y1 to be 7121 on >"21°"2; so every w"w should be 721y on >"21>"2!

MooIN answers:
= 1890 297919 XY 99V 9MIYT 21N DIVNT 990 U

And one can say; that on account of having the obligation of a w''w; that alone

does not cause that it should be considered his Y2 (therefore a regular w"w will not

be 72w on "1 °"2 for guarding someone’s Y11 [even though he is 2717 for X"3]) -
2. ony 92975 45w 911 159 53p41 21090 1NT DIV INY IN

If not because the o5 states that the 7% acquires the 1Ow» and it is his, as '
expounded the ?105.

SUMMARY
According to "1 a n"va is NOwn 7P to be PO1INRA 221, while according to '0I1n he
1s 2™ in X" (only). But nevertheless since the 770 states that he is 1own AP,

20%9 7"1n 8,29 [TIE (by) footnote # 25].

2 P> ' derives from a 109 that 11ow» Anp n"va. The P09 states (3,72 [R¥N] 2°127) 22 v 822 viaya nR 2 2°0A 2w
PR 7)Y 2197 TRTY IR 777 72721 inp2. Since the oo states 17X N [, this proves that the n"va ‘owns’ the 112wn
(012v77); for otherwise why is it considered a 7p7% to the M>» if he returns the 1ow» (in the evening) — it is not his!

22 The reason (X271 NYWA XOW) Nown By mbmi is 2% 270 is not because he is considered a w"w (and is 21 for
X'"13), but rather the 7790 teaches us that it considers the 7791 to be the owner (regarding his doing 7p7%), therefore he
is also 121w on °"21 >"2. There seems to be two rules regarding a 119wn; one that the mMn is considered the owner
(regarding °"21°"2 ,7p7% [and perhaps to exempt him from 7w nw, etc.]), which we derive prix> 171, There is a second
rule that he is X"22 21 (like a w"w) because of the benefit he has (for o°1p and 15°517), which (seemingly) has
nothing to do with >". See footnote # 23.

3 Perhaps we can understand this by looking at a w"w and a 79w. Both are 2»n for X", yet there is a difference
between them; while the 1212 uses the object for his benefit (including perhaps 7wR7 nR 12 WP, etc.), a W"w cannot.
Similarly, the ruling of > makes the 7721 more like a 15 than a w"¥ (even though the n1InX is the same). [The
mon gave money for the 115wn like the 12w pays rent for the item.]
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his ownership is greater than that of a w"w.

THINKING IT OVER

moon, when he is discussing why a 1ownn By mon is a w"w, states that if he is mp
the Town with a 7w PIp he should be Ponxa 21.%* Presumably nowmn would be
satisfied that the M%7 is 73 PIp anp if the Nownn v 719n would be 7701182 277.
However he would still not be able to use it and he would be required to return it,
but if he 1s 73 7°3p 71 why would these rules apply?!

2. Mo writes that a (AR NYWa ROW) 110wnt HY m9n is considered a w"w because
now he has no money and he can use the 1own for WP, etc.” According to this
reasoning, why not simply state that he is a " because since he does not have the
money now, the fact that he has a 11own, assures him that his loan is secured??®

2* See footnote # 9 & 10.
2 See footnote # 18.
26 See TIMHN WM XN # 20.
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